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def |harmonic| (|n|): AR
e

.t~ total|= 0.0
S for 1 in range(l, n + 1): 1/2

total += 1.0 / 1

1/3

1/4

return |[total 1/n
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import sys 9l ael o SO sl O

import ol,gws 5l sldlss O
def harmonic(n): ‘ 2= 1<5Hnu

. * o, od n
total = 0.0 &'y L ) S

for i in range(l, n + 1): (=D by 6o b gyl i O
total += 1.0 / 1

return total

% python harmonicf.py 1 2 4

. . 1.0
for i in range(l, Tlen(sys.argv)): 1 5
arg = 'int(sys_argv[-i]) 2.083333333333333

value = harmonic(arg)

print(value)
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import sys
import stdio

def harmonic(n): @U g_i% LSS‘?‘)_é L‘L>.‘).‘° O
total = 0.0 B ‘E“. - o 21 4 . “ “'S'
for 1 in range(l, n+l): ngso 0 Ls"ﬂ}‘)s é-’b AS LS‘M‘ ‘b J d
e 1 g oo iie SIS 55 e plhe  oslatal L loglest T 3
Abgiﬁtj;o l):?‘ CEAS uXS’ O
D 0 03l 118 ouls JleBl 3 Al siS y lade eS8 0 o &l sl >4 O

Dgd oo JBa g3l 8 0S5 a0 bge JuS O

i 1in range(l,
lf=1 i=2 [i=3

arg = int(sys.argv[i])

% python harmonicf.py 1 2 4
harmonic(arg) 1.0
1.5
stdio.writeln(value) 2.083333333333333
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def harmonic(n):
arg 4 sl J ol

total = 0.0 .
total ;N ojw — > for i in range(l, n + 1): ) e/ value
total += 1.0 / 1 .
< T o)
return total T
lide p2in 9,
for i in range(l, len(sys.argv)): l

P arg = int(sys.argv[i])
N 4 plyj i J @ ] h :
w0 s, total ¢ value = harmonic(arg)

print(value) > E—
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def harmonic(n, [r=1): printCharmonic(4)) mTtatstoa
total = 0.0

. . . 1 1 1 1
for i in range(l, n + 1): print(harmonic(4, r=2)) | S+5+5+4

total += 1.0 / (3 ** r)
. . 1 1 1 1
return total print(harmonic(4, r=3)) | —=+=+—=+—

13 ' 23 733743
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def draw_triangle(x0, y0, x1, yl, x2, y2):
stddraw.line(x0, y0, x1, yl)
stddraw. line(x1, yl, x2, y2)
stddraw.line(x2, y2, x0, y0)
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el ol O

(x0, y0)

(x1, yl) (x2, y2)
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def f(a, b):

return a + b

X = 2 X = ‘Hello,
y = 3 y = ‘world’
z = f(x, y) # z 1s 5

f(x, y) # z 1s ‘Hello, world’
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def is_prime(n):
if n < 2: return False

1 =2
u . . o"/ o . o /
@>% U9l wyp while i*i <= n: iy gy A8 b R0 A
if n% 1 == 0: return False
1 +=1

return True

def hypot(a, b):
return math.sqrt(a*a + b*b)
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def harmonic(n, r=1):
total = 0.0

GO (o dﬁ/J‘}"/(b Slael for i in range(l, n + 1): IR @La;f,/i’({ &U LJJ/
total += 1.0 / (i ** r)

return total

def draw_triangle(x0, y0, x1, yl, x2, y2):
stddraw.line(x0, y0, x1, yl)
stddraw.line(x1, yl, x2, y2) cgﬁf@,ﬁw,cwg<§U¢Jf
stddraw.line(x2, y2, x0, y0)
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import sys
def cube(i): % python cubesl.py 6
. e e oa 1 1
J — -I w -I ” -I 2 8
return j 3 27
4 64
5 125
n = int(sys.argv[1]) 6 216

for i in range(l, n + 1):
print(‘%s %s’ % (i, cube(i)))
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import sys
def cube(i): % python cubes2.py 6
. - 11
1T =1 = 1 1 2 8
return 1 3 27
4 064
5 125
n = int(sys.argv[1l]) 6 216

for i in range(l, n + 1):
print(‘%s %s’ % (i, cube(i)))
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import sys
def cube(i): % python cubes3.py 6
! e e 1 None
=111 2 None
3 None
4 None
5 None
n = int(sys.argv[1]) 6 None

for i in range(l, n + 1):
print(‘%s %s’ % (i, cube(i)))
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import sys

o\©

python cubes4.py 6

1

8
2°7
64
125
216

def cube(i):

return 1 * 1 * 1

oy U1 W LW DN

n = int(sys.argv[1l])

for i in range(l, n + 1):
print(‘%s %s’ % (i, cube(i)))
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def phi(x): -
_ —xz/
return math.exp(-x * x / 2.0) / math.sqrt(2.0 * math.pi) ¢(x) = Tfi :
def pdf(x, mu=0.0, sigma=1.0):
P 0) = (5H) /0

return phi((x - mu) / sigma) / sigma

Qb sl (63959 HleoS T slaxs o Wilg co 2ol SO L ylesS )l fpois O
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def Phi(2):
if z < -8.0: return 0.0
if z > 8.0: return 1.0

total = 0.0

term = z

i=3

while total != total + term:

total += term
term *= z * z / float(i)
1 += 2

return 0.5 + phi(z) * total

def cdf(z, mu=0.0, sigma=1.0):
return Phi((z - mu) / sigma)
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$(820,1019,209) = 0.17051

0.1

2.28%
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820

fraction = cdf(820, 1019, 209) |
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import sys, stddraw, gauss

def main(Q):
n = int(sys.argv[1])

stddraw.setXscale(-4.0, 4.0)
stddraw.setYscale(0.0, 0.5)
stddraw.setPenRadius(0.01)

x = [0.0] * (n + 1)
y = [0.0] * (n + 1)
for i in range(n + 1):

-4.0 + 8.0 * 1 / n
gaussian.pdf(x[i])

x[1] =

y[1i]
for 1 in range(n):

stddraw.line(x[i], y[i], x[i+1], y[i+1])

stddraw. show()

if __name__ == ‘ main__’:

main()

GO 23)0 eI
e
(—4,4) o5k ;5 P(,0,1) g3 . Jlio O

8 00O Standard Draw

File

$ python gaussian plot.py 200
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import sys

import random
n = int(sys.argv[2])

count = 0
collected_count = 0

is_collected = [False] * n

while collected_count < n:
count += 1
value = random.randrange(0, n)
if not is_collected[value]:
collected_count += 1

is_collected[value] = True

print(count)

?lgé (o S oriiSgen auws
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def get_coupon(n):

return random.randrange(0, n) is_collected[] | cards collected
def collect(n): count number collected

count, collected_count = 0, O collected count | number that differ

is_collected = [False] * n value current value

while collected_count < n:

count += 1

value = get_coupon(n) % python coupon.py 1000
if not is_collected[value]: 6552

collected_count += 1 $ python coupon.py 1000
6481

is_collected[value] = True
% python coupon.py 1000000
return count 12783771

n = int(sys.argv[1])

print(collect(n))
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def mean(a):

total = 0.0
find the maximum for v in a:
of the arrays value total += v

return total / len(a)

def dot(a, b):
total = 0.0

dot product for i in range(len(a)):
total += a[i] * b[i]
return total

def exchange(a, i, j):

exchange two temp = a[i]
elements in the array ali] = a[j]
alj] = temp
def shuffle(a):
n = len(a)
shuffle the array for i in range(n):

r = random.randrange(i, n)
exchange(a, i, r) 1A - 5915) po0 sy — (aa3ldyG5 g @13 — PeT0 b giaslby




